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V(x)=Vi + Wex, M(x) = Ma + Vyx ~|

3

1.

A beam is subjected to the uniform load
W, per unit length and Ma, Va & Vp are
the reactions as shown in the figure. The

expression for shear force V(x) and

Bending moment M(x) is given by
y
W_N/m (
Y EREEERRERNERER
M, Rt
\JA g '\:“{A: Wiow
™M xNa (D s
A ( Wt = Na)
@ V=V, + Wex, M(x) = Ma + V,x —
chz .
2
() V&)=Vs - Wx, M(x) = Ma~ V,x -
Wz .
2
© V®=Vai+ Wx, Mx) =Ma - V,x —
W.x?
L. o
2
(d V(x)=Va - Wx, M(x) = Ma + Vyx —
Wox™ o
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FONT IHAUE 2. A weld with a triangular cross section
2. T AT AT AR ST shown below is to be produced on g steaesl
¥ U TF Jo8 FI Tl AT Fl 3917 work piece by shieldled]meta}1 arc welding
g fresg Aed fegar TR operation using steel electrode. If a 24 y
gl Rle 3 afe y o power supply is used and the welding
CEIRURIT g drg 9 g Sl speed is 12 mm/s, what is the current
94 V Urax @ 3940 fFAm o & 3R needed? As_s%gme the e£f1c1en1c€r is 180%
- 2 and the specific energy to melt steel ag
3feer 7T 12 mm/s ¥, @ 3aegs faegd e
ORT FAT §? caTdl 80% ddr T &
SRR el s e s
(a) 50A (a) 50A
) 75A ®) 75A
(© 125A () 125A
d 175A d 175A
3. A slider moving outward on a rod OR with

3. U#H TAEsy 3 m/s & I 3T 9 m/s? caoT
¥ AT U OR 9T @ig T 3R 9¢ T Bl
s & O & IRT IR 7 radls FEeT
cfgomad &1 ol g 3N gf@umad
12 rad/s? &T IV @30T g| dr TAF A
W Tarssy & foRUer caior T m/s? H
qRATIT FT 8§72

—— 9 m/s?
12 rad/s? " 3mfs

m.:ﬂy..-“ i ,,,/. T r—— i o , el

(a) 20

(© 67
d 179
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a velocity of 3 m/s and acceleration of
9 m/s% The rod has an angular velocity of
7 rad/s counter clockwise about O and an
angular acceleration of 12 rad/s?
clockwise. The magnitude of absolute
acceleration of the slider at location A in
m/s? 1s

——— 9 m/s?
/A / ra'd/s 12 rad/fs? 3m/s
vz ; S
Z ) A
5d i
NMERVE
(a) 20
(b) 50
(c) 67
d 79

g
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@i P g% §F W g S g g powz' ~Up?1: lff’»*faﬁ and the welding
spee ! whnat 1 a
o4 V UrER & 3UET fFAT e § 3R pecdad 3
feger 91Ty 12 mm/s &, @ 3E3TH f&9eda- gnﬁ t
aRT FAT P gaiaT 80% oW VWid & '
Rues &1 [Bf¥rse AT 8 J/mm® AF| -— ©. 7 ™
TN TR L
(a) 50A (a 50A
b T5A . (b) T75A
© 125A (© 125A
@ 175A (d) 175A
3. A slider moving outward on a rod OR with

3. UF TEN 3 m/s & &1 AR 9 mls? TIUT
¥ @7 U OR W aX &I 3R 48 I &l
T & O F IR 3R 7 rads FBX
gfEoned @ FOiT & 3N aigonad
112 rad/s? &7 FIONT CROT §l A T A
W TaEs & fAR9e ST H om/st A
qRATT F4T 87

s G ifs?

j///‘: 7 rad/s 12 fad/s MR m/s
7 AR R -
0 7 e
7 : fac
7 A
| |
im 4
(a) 20
®) 50
@ 67
@ 79

; ICRB—a‘snﬁ?F m .. (zrrfita?r)-zozs
5} SclentlstlEngmeer ‘SC’ (Mechamcal)-2023

a velocity of 3 m/s and acceleration of
9 m/s2. The rod has an angular velocity of

7 rad/s counter clockwise abouu O and an
angular acceleration of 12 rad/s®
clockwise. The magnitude of absolute
acceleration of the slider at location A In
m/s? is

» 8 m/fs
{; 2 ra’d/s 12 rad/s? -———-—-___ N 3m/s
0 :"‘j‘%»‘“——?-m«;-mv-» S Ser IO s ; S Vw—»-vwv - R
3:;?? s o d | . e,, 5
Peaae S
(a) . “20
(b) 50
() 67
@ 79
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4. Iy ward iy fafies T

L — 4. The specific stiffness of a material is
gy egare i aftanfaeg gy ST ) defined as the ratio of A B e G/\J
| FA
(ﬂ A’m? o 1 . s
i RS T R Hig (a) Mass to Young’s modulus *
b 7 [T Tt
b) - HeE IR ey siger () Dehsity to Young’s mbdulus TR
€ TIrH HZHT 3R gereg ()  Young’s modulus to Density
d) zZry Higord 3T G AT (d)  Young’s modulus to Mass
5. IR-wAAR AR IR-gfred Y AFT ¥ dra| 5. The type of gear used to transmit
qp‘m afa gaifg I F v I9EnT R rotary motion between non-parallel and
non-intersecting shaft is
S A R # ywr :
(a) ¥OX oy ‘ #° (a) Spurgear
®) &fermer frRT | ® Helical gear
(¢ a9 Iy ; () Bevel gear

(d) aF frr (d) Worm gear

6. frifrg & & F O 35T 3T guiig| 6. Which of the bearings given below is not
= suitable for axial thrust load?
R (W 9 W15) & T sugEd

el ‘
G E o St T (a) Deep groove ball bearing
(B) ; 5 afe St (b) Angulér contact ball bearing
(c‘) . 2%, ¥ ()  Single row tapered bearing
= ; (d) Straight Cylindrical roller bearing
@) we fafdFs Jov aar -

_ ICRB-#wfas siffear wa.dl (@ifyd)-2023 5
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7. wdur Wa S F AU TATHT BT ar The configuration of a planar four }
Jar

frafafy o1 gwgur Ferfed faF i qafar
ar ¥ R &1 dFs L, = 40 mm,
L,=15mm, L,=35 mm #R L, = 30 mm
gl TegeRd (@ftheFw) 1, 2, 3 9 4 HAW:
i &1 3 7, 3R T, sage 3R Eeye
fiw & ampl § o frafaf @ a@ife

T,
T,

am( ]ma?

(@ 2
(b) 05
(©
d o
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mechanism  with frictionless joints
shown in the figure below. The length,
of the links are L; = 40 mm, L, =15 mm
L,=35mm, and L,= 30 mm. The suffixeg
1, 2, 3 and 4 represents the fixed, input,

coupler and output link respectively. It T
and T, are the torque to the input and
output link, what is the mechanica]

L
advantage (—TQJ of the mechanism?

i

S
Ly

;/
3 /’
//
v 4
2 77 e
G- o
1
@ 2
® 05
() =
@ 0
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8. 50 mm =ATH 3R 2000 my, GEIf P

8, A solid har OO0 mm in dinmeler and
Ll

3R 3 T & ey UEH qrer s 2000 mm long consists of n ‘slecl and
o ;'l g . .
T gl S JUITEY 3 Hef aluminum part joined together, When
=B RIS axial force P is applied to the system, @
STar g, ar PPy
' Wm q SET Iy REIG) strain pauge attached to the aluminum
AT 800 um/m iy indicates an axinl strain of
zeffar &, ar e . 800 pm/m. What is the corresponding
' i T & o axial strain on the Steel? Assume
§? E«=200 GPa 3R Eu = : [ = 200 GPa and [ = 70 Gpa,
Al =70 Gpa #T| A o
(@) 28 pm/m o) S, B %; £, Goop™
(b) 140 pm/m _ () 140 pm/m €= G - gL_'_ = B0 Mo
(c) 280 pm/m € : .
(c) 280 pm/m T BRSO
(@)= 14 pm/m (d 14 pm/m I ==
' \ = 54000

9. or wial & 10 mm THFT O & Th ‘9. Two flanges are connected by a single holt

of nominal diameter 10 mm and 18

: B o ST 31T & 3N 30 Nm 31‘ ; preloaded to a torque of 30 Nm. An external

3-ITE‘I\Uﬁ' o ez fFr T E?I 3 g W tensile load of 10,000 N is applied to the

‘ joint. The torque coefficient is 0.15 and joint
T g R ger o gl ° _

10,000°N &8 ; : 0 stiffness constant i1s 0.2. The maximum
ot apoTie 0.15 3R SIS FORGT IR tension in the bolt is

02 ¥1 e diee 3 e Fwd T E2
() 10,000 N | (a) 10,000 N
(® 20,000N b OR 20,000 N
. © 22,000N © _ v_:zz_,‘ooo N

(@ 30,000N @ 30,000 N

ICRB-dwifars wfvvdar wa. . (FEH)-2023 7
: Sdientist(Etxgineér sC (Mechanical)'2023



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

B

s rfderar oq. Y (@) F g & T awdf
a—c_gﬁﬁaqﬁﬂr—zozsz

WRITTEN TEST FOR RECRUITMENT TO THE POST OF E
SCIENTIST/ENGINEER ‘SC’ (MECHANICAL) - 2023

\
SET

10. #dr fe@e siv R A, s ge@dAd m,
HORCAT ke arell a @A f&e & S37 g3
&1 Su yomelr & wihfaw 3ngfea T 87

k -
L mi
[
k - .i N
TIIITTT

1 [k
@) %\E
(P L

27 Vm

© L|X

5;; 2m
1 [k
27V m

(d)

11. u& HaAfed RUT-geadllel 9omel & UF
HIAT o & AT G@ERT ¢ = 0 W aleid
T AT &l d efof@aa d @ a3 a8
g7
(2) FfC HaFe Jqaa 0 F 1 & &= &,

dr JoTel IS alee Yeiia =gr ayeh

b) I aFeT A 0 F 1 & o g,
ar 37ed: JoTel faRTe 7 3 Freed

(c) A 3aHe 3T < 0 ¢, ar womeh
Had: e 7 3 sl

(d) gomel gAM BT FAT Wl
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10. A mass m is attached to two identicy)

11.

springs having stiffness % as shown ip,
figure below. The natural frequency of the
vibrating system is

1 k
(@ zz;x/;

1 [2k
JSwed e
1 k
© 5 Vm
1 4k
d —,—
27 ¥ m

A damped spring-mass system is forced to
oscillate at ¢ = 0 by the application of an
impulse force. Which of the following are
true?

(a) If the damping ratio is between
0 and 1, the system will show no
oscillations

(b) If the damping ratio is between
0 and 1, the system will eventually
come to rest

(¢) If the damping ratio < 0, the system
will eventually come to rest

(d)  The system will always oscillate
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Wmmw’m*ﬁ?ﬂmﬁﬁa‘
ﬁ?mmwmmwwmég
W@QBmEﬁ'qﬁwmlmm
ﬂg*mmﬁmo.smmm
%,ﬁwwmmﬁmoﬁ
a1 A4

(@ 54 kmph
() 60.7 kmph
(c) 45.3 kmph
(d) 97 kmph

e TA 9IS & UF o fafelst, gaer
el st 3 vw e, e aed
A FAE &, B e ede GA g
H e Sam gl @ dael & mdor
T FAA ¢l o WS & A ugua w

el T T FAT & ?

(@) W U HY UgIA &

(b) o fAfeEt, e, gder @l [afest
(© e, or fafesy,uder @ st
(&) uder @e e, o st

ICRB-4+frs srfrdar ‘wa.dh (Fifaen)-2023
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12.

13.

In an accident site, tyre marks shows that
a car was travelling along straight level
street skidded for a total distance of 23 m,
after the brakes applied. The coefficient
of friction between the tyre and road
the
probable speed of car when break applied.

estimated to be ’_E)_.é,____what was

(a) 54 kmph
(b) 60.7 kmph
(c) 45.3 kmph
(d) 97 kmph

If a solid cylinder, thin hollow cylinder
and a sphere, all with same material and
are having same outside diameter are
allowed to roll down in same inclination
without sliding. All surfaces are having
What is the
order of the bodies reaching bottom

same coefficient of friction.

(a) All reach together

(b) Solid cylinder, sphere, thin hollow
cylinder

(c)  Sphere, solid cylinder, thin hollow
cylinder

(d) Thin hollow cylinder, solid cylinder,

sphere

R g T .
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R
SET
E

14.

15.

16.

T&F 0.2 mm AT T & dfhd X 25 mm
g & udoRfyd e W gerEr Sl &l
If E = 100 GPa &, o wgl & 3fsad
yfdae a1 87

(a) 100 MPa
(b) 200 MPa
() 400 MPa
(d) 800 MPa
s ol waw & U AT H
V(x,y)=k(x ~ ;) GERT AT 91T &, Sl

k=2133-m'xandy3fl?~(£l'?lqﬁaa
A 100 kg/m?® § 3R HA A @@
10 kPa &, o fdg (3,3) o ga1d 47 87

(a) 3.2kPa
(b) 6.4 kPa
(¢ 1.6kPa
(d) FHI$ el

2 mm S F TH MehR SFa-fdg 25°C
d9ATT WX gal H A @R & 8 ole-
ol g3l |/ d¢ Srar &1 gar 7 Jd @
gvs d1d oM 0.073 N/m & 3R arfasfiear
WAGT 0.01 @i &1 o §g & de #
feram araT wramsTeT Y T 7

(a) 0.29x106J
(b) 0.92x106J
€ 0.86x106J
d) 0.78x106J

ICRB-dafaw 3ffwar ‘og.d @fdr)-2023
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14.

15.

16.

ﬁ_J—_ﬁ_\\
A 0.2 mm thick strip is bent and |
a frlctnonlﬁé?ptlllev of 25 mm dlametu If
E =100 GPa, the maximum stress ip, the
strip is

aid 1 over

1y, 150
(a) 100 MPa B 25§
o ¥ lﬁiﬁ e el
(b) 200 MPa 4 ;Q .M
(©) 400 MPa
(d) 800 MPa

The velocity field of a certain two
dimensional flow 1s given by
V(x,y)=k(xl-—yj) where k=2/s and

xand y are in meters. If the fluid density

is 100 kg/m® and pressure at origin is
10 kPa, what is the pressure at point
(3,3)?

(a)
(b)
(©)
(d)

3.2 kPa
6.4 kPa
1.6 kPa

None

A spherical water drop of diameter 2 mm
splits in to 8 small drops of equal size in
air at temperature of 25°C. The surface
tension coefficient of water in air is
0.073 N/m and dynamic viscosity is
0.01 poise. The approximate work done in
splitting up the drop is

(a) 0.29x106J
(b) 0.92x106J
(© 0.86x106J
(d 0.78x106J

g |
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& A A AT ST §9
(a) HYUda

(b) AT 2T

2
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SET
E

URTET aories|  17. Which is identified as the coefficient of

momentum transport?

(a) Density .

(b) Kinematic viscosity }:\i\()
\

(c Dynamie viscosity /-

e

V

N

~,

N
(d) Reynolds number ”\4

18. 1% qg?‘{ ITAFR U F walg Y may| 18. Which is the most economical depth of

fRHIRIC WaTe $I Tgas a7 g7 flow in an open rectangular channel?
(@) E & ES Ader &y B (a) Depth of flow equals to the width of
RIST FreT channel
(b) wdg HT TEUs UG S diES F (b) Depth of flow is double the width of
ST BT ¥ channel
(c) warg Fr TEWS ATl @l diers & 3mar (c) Depth of flow is half of the width of
channel
g &
d) warE @ MRS ATl #$r diz 1 Th (d) Depth of flow is 1/3 the width of
channel
GRERIGIN

ICRB-wfars aifirdan wa.dl (@iR)-2023 11
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19.

fg & R@w v AR TH 50 mm A
¥ AW AT F 4mm T IER F fheeT
I3 @ WAAS ST & ARl 3N dos
frar amar &1 e des @EA H AHTAT
f$fa @wed 100 MPa & & Nm &
FFaR T aart =2 g, @it des

IS AHA Yg ATA F HAAd a N @

b |
ll\
5007
(a) NG
1000
() 7
(c) 500 zJ2

(d) 1000 72

ICRB-33fa sffrdar ‘wa.at’ (@ifydn)-2023
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19.

—

\\\

A 50 mm diameter solid shaft ig welded ¢
_— — —ded o

a flat plate all around by fi]jet weld of

4mm leg size as shown in Fig. If the

allowable shear strength of the weld

material is 100 MPa,

the maximum
approximate torque in Nm that the
welded joint can sustain under pure

torsion is

LL .
R
o
10
%Y
5007
(a) = ‘00 'J b T\' -
& o2 5% 0 5 > (sore
1000«
s k0 ~\1
®) 5 D x 190
3
1J9
() 500 72 ™

11512‘)’;’%
Ey

(d 1000 72

3% S0 xsbiy <58 % t/g
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. 20. What is the revolving joint of the robot
FEA T ? called?
®) V-Eﬂ?;(\y E‘ ) (a) V-Joint
®) L:Thg(m) (b) L-Joint
fe).+1 D-im(s=e) (© O-Joint
(@)  T<fs(sarse) ) T-Joint
21 313?1‘”35(-{ NG g g & fafe=| 21. The diagram below is showing the various
AGS exAT T@r &l Siaar Reey ST Hrest criteria of fatigue failure. Which option is
Arwgor = the correct representation of these
@ . %’) ( e, y AR u criteria? (Subscripts e, y and u represent
A (Hea) t'g_'q.??. (RT¥19) W g 3R endurance, yield and ultimate
(TH) IR F:Y A ¥ ) respectively.)
3
$ I ;
= g
L 7
g
1 0 a, Ty
0 a, Gp <— Menan stress (6,,) —»
<— Mean stress (a,,) —»
(@ 1 - HIsygaT s, 2 - TSHA TR, (@) 1- Soderberg line, 2 - Goodman line,
3 - Gerber line
33 A Lex
®) 1 - AT o=, 2 - WEEH e, b 1- Goodmap line, 2 - Soderberg line,
= 3 - Gerber line
3 - AR B s
) 2 . IR wE, (¢) 1 - Soderberg line, 2 - Gerber line,
© 1 - |iEgEd aEd 3 - Goodman line
3 - ISHA g
. TreEd e, (d) 1 - Gerber line, 2 - Soderberg line,
@ 1 - [ ¥ 2 3 - Goodman line
3 - IEHA elga

ICRB-dwnfa arfvear ww.#l. (@ifae)-2023 13
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T
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E

22,

23.

TFH 20 mm T A CegAATH ©F H
e O g@RT 19 mm <o # gRafdd
frm smar ¥ R @ #r e aifg
200mm/min § 3N fUsa 600 rpm W

et &ear €, o gerd f@shried e ———

& ORI &

(a) 6100 mm?3min
(b) 12250 mm3¥/min
(¢) 3050 mm¥min
(d) 9150 mm?3*min

@l Wege sl ¥ @Y UF FATAT TR
arR Frfafar & o o&=1$ AB = 30 mm,
BC =

120 mm, CD = 100 mm 3R

AD = 80 mm | Th T (39eT) FF

frafafdr e & & o &

(a) AB
(®) BC
© CD
d) AD

ICRB-dwa% siffgar ‘o ). (@ifxdr)-2023
Scientist/Engineer ‘SC’ (Mechanical)-2023
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22. A 20 mm diameter Aluminium roq jg

23.

-_— e——

—_—

turned to 19 mm diameter in g single

pass. If the axial speed of the tool is
200 mm/min and the spindle rotate at

E e
600 rpm, the material removal rate ig

- —

nearly
fudxy \Q
v H R\ R ?ﬂ@‘“
by
U O AN
(a) 6100 mm3/min
IRt A S|
(b) 12250 mm3/min \ . lag-
(¢) 3050 mm?*min SiHrey
w6
(d) 9150 mm?*min @ /)<

A planar four bar mechanism with all
revolute joints has link lengths AB = 30 mm,
BC = 120 mm, CD = 100 mm and
AD = 80 mm. The link to be fixed to obtain

a double crank mechanism is

C
\2 Y \eQ
(a) AB *’30
®) BC noo©
(¢ CD
@ AD
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24, ua:zﬂamz,zﬁéﬂﬁﬁr. ZX W 7Yz

27.3kgazawmr§:ma‘mmmmm
%laﬁﬂZYmmmﬁ*mmﬁm
ﬁﬁﬁ?ﬂWBmaﬁmgiBmm

T F (P i o quifea), af oty

ﬁ?ﬁaﬁcmﬁqu;mg?
X
Y
N
0 gos f J_

(a) 14kg
(b) 20kg
(c 10kg
(d) 5kg

ICRB-dwfar arfiiar ‘oq. . (TifD)-2023
Scientist/Engineer ‘SC’ (Mechanical)-2023
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24. A small ring 7 carries vertical load A of

—

mass 27.3 kg by two strings ZX and ZY.

String ZY carries a load B at its free end

—

through a frictionless pulley. Find the

value of B (rounded to nearest integer), if

the string is stable at the configuration

shown in fig.

(2)

(b)

(©)

(d)

14 kg
20 kg
10 kg

5kg

O p——

anid
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95. wE FUE do¢ TH ORA W o § AR
2.5 KW &l 9/ak TaTd &l gl dec &
Y@F 49T 2.5 m/s &1 o FUT 165° § AR
de¢ U9 fORel & g @ udur IOnE 0.3
¢l I 9ec F URfAS T=a & 10% dF
ggr feam Srar g, dr 9ray §EROT WO
9T BT §? (Sec & frmes 3R 3T

mﬁmﬂmﬁ'fg@)

(a) 9TGT HAIOT 10 % o 9¢ AT &

(b) YA TWOT 10 % da °¢ oifdr &

(9 9T FROT SR[AT &Y ST §

(d) YTEaR TOXOT 37T &Y ST §

ICRB-dwfa® srffraar wa.d. (gifxd)-2023
Scientist/Engineer ‘SC’ (Mechanical)-2023
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25. A flat belt run over 3 pulley and

transmitting the power of 2.5 KW. The

linear velocity of the belt is 2.5 m/s. The

angle of lap is 165° and the coefficient of

friction between the belt and pulley is 0 3

If the initial tension of the belt is

increased by 10%, what is the effect on

power transmission? (neglecting the slip

and centrifugal effect of the belt)

(a)

(b)

(©

(d)

The power transmission is increased

by 10 %

The power transmission is reduced

by 10 %

The power transmission is doubled

The power transmission is reduced

to half


https://link.testbook.com/bQQ2EkH1bpb
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26. gREY TIAT W 5m &

21.

—

5 mmw.wﬁ.’(mﬁaﬁ)ﬂ;qaﬁ:ﬁva?ﬁ
o T Tt — 2023

FOR RECRUITMENT TO THE POST OF

i |i5To

—

WRITTEN TEST

SCIENTIST/ENGINEE

mﬂmﬁré—?w
@W%mﬁmmma

TT H T @y

b

9

g 2922? SIS :wa
() 5.138m I

(d) 4.865m \,9/44’%'

V00 ¥i5% a0

F ST, G D W @ e 7R 7 agw
A F U SO E S A g
¥ T 8] AR us FEer aw o cw
ST ST &1 o i3eX R 7 9T &
IR X ¥ F #T gl &1 yar &9, afr o
D W #R & Iquieafd & ot &7 =
geled J &l %l F AR & 2 TF HAT ST
ma?Daﬁrmﬁﬁzmaqhwm
I gl

12m

(@ X=8mwCW=2¢t
b X=10m W CW=16t
() X=6m W CW=15t
@ X=12m W CW=16.67t

ICRB-dwfas rfirgar ‘v .’ (Fif)-2023
Scientist/Engineer ‘SC’ (Mechanical)-2023
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5m at ambient temperature is dipped into"
A Niquid nitrogen bath. What will be_the
mean diameter of ring in the LN bath.
The coefficient of linear expansion, of
aluminium alloy in the temperature range

may be taken as 20x107°/K. (Ambient
temperature may be taken as 24°C.
Boiling temperature of liquid nitrogen:

77 K). v 1
(@) 4.978m _o K 20 XW % .
(b) 4.958m 253 5

(© 5.138m w/»n"“’}g
d 485m W9 YN

' A travelling crane as shown is used_to

¢arry a load of two tonnes at point D. A
counter mass CW is to be added as shown
to avoid toppling of the crane. Find the
limiting value of counter mass and
distance, X from F, such that it will not
topple the crane even in the absence of
load at D. The mass of the crane may be
taken as 2 tonnes and is acting 2 meters
away from E towards D. B

Em 2m

3am

(a) CW=2tatX=8m

(b) CW=16tatX=10m
() CW=15tatX=6m
(d CW=1667tatX=12m

26. An aluminium ring of mean ‘diameter’ of -

Qo
2494
3 A

p.'®)
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28. ¢y fSAT 3R ‘o WIS FNIW B TH
Sier AR T WEhes de s’ Bl rd
frsar A ‘o RS FNTIE B T gEd
S ST 1 HEREes A sy €l
et safEt & fow w3 EReY
AT G &1 I = 2 1 AR = /2,

ar spls FT &2
(@ 4

(®) 8

(c) 16

(d) 32

29. feAfaf@a =1 A

Carcp= g RTeTH-11
Ao & e TRET_ & &1 i
AR

A) Yoz Rgia () [mwesior

(B) ¢¥=1 fagia (ii) Ererged

(©) T Fiea (ifi) feregatior

agia
(D) S=THESAH (iv) meragss
gra

(@)  (A)-G), (B)-(v), (C)-(1), (D)-(iii)
(b)  (A)-(iid), (B)-(iv), (C)-(i1), (D)-(i)
©  (A)-Gi), (B)-(), (C)-Gv), (D)-(ii)

@ (A)-Gv), B)-G), (C)-(iii), (D)-(ii)

ICRB-d+fars sffar wa.d. (@ifyh-2023
Scientist/Engineer ‘SC’ (Mechanical)-2023
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28.

29.

A journal bearing of radius ‘r’an
clearance ‘ci’ has a sommerfeld

3

s1’. Another journal bearing of ra
and radial clearance ‘c2’ has a som

F\

SET
E

\

d radia]
Numbey
diug ‘ro’
merfeld

number ‘s2’. All the other Parameterg
remain the same for both bearings. If y,=
2 r1 and c2= ¢1/2, then sa/s;

(@) 4
® 8
(0 16
(d) 32

Match the following :

Column -1

Column — II

Theories of

Shape of region

failure of safety
(A) Rankine Theory ((i) |Hexagon
(B) Tresca Theory |(ii) |Ellipse
(C) St. Venants (111) |Square
theory
(D) Von mises (iv) [Rhombus

Theory

(@)  (A)-(D), B)-(iv), (O)-(1), (D)-(iii)
(b)  (A)-(iii), (B)-(iv), (C)-(ii), (D)-(i)
©  (A)-(ii), (B)-(G), (O)-(iv), (D)-(i)
) (A)-(iv), (B)-(), (C)-(iid), (D)-(id)
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30. mﬁaﬁ%mtmgﬁéﬁmﬁ
mmmﬂﬁm%a;mﬁ
e F AN F AR Ao 4 e

el SITar

giar 81 39 97T @

el

(a) ANTAT F 9oy

(b) 3mEON Hr QJfer

(0 Wi Foll & Hger 1wy
(@ O T F T gAY

8l. dF YHR & "ar & ufaws iy a%
fraifed o & Ram & swm w@@
G & qgd

S,

Stress ;

f/
,i/

@ E - R (Few), F - JA(EFmRE),
G - tdrtes

b E - coiieed, F - s (B,
G - d(3FCISd)

@ E - sAR (Bee), F - o
G - ded(saei3d)

d E - d-a(Ewes«), Fo- UREE

G - R (foree)

ICRB-Y=nfrs srfrear e (@ifie)-2023

Scientist/Engineer ‘SC’ (Mechanical

)-2023

30. The moment of resultant of concurrent
forces with respect to a center Jn thejr
plane is equal to the algebraic sum of the
moments of components with respect to
same center. This theorem is known as

31.

19

(a)
(b)
©

(d)

Theorem of Varignon
Method of moments

Theorem of equilibrium of active
forces v

Theorem of three forced

Stress strain curve of three types of
material is given in the figure below.
Please identify the correct combination.

\
A\

Stress - 4 G

(a)

(b)

(©

(d

Strain

E - brittle, F - ductile, G - plastic

E - plastic, F - brittle, G - ductile

E - brittle, F - plastic, G - ductile

E - ductile, F - plastic, G- brittle
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32.

33.

ICRB-da1fre 31fyaar ‘oq i (T@ifAd)-2023

vw FAME A # FdR-gerd are ufded
o=0,cos(brt) F THAT FAT USal €l
gery T @ge @A 350 MPa g 3R 3T
W GHES 500 MPa &1 3% Bamsa #
SgFd TN AUNE 3.5 §, of HsEdr Aifd
AEES & HFAR MPa # HgaAcd gfasd

o, FT &7?
(@ 10
() 200
() 100
(d) 50

AT & T FoaeAs dR A
AT 9fddd decd 0,=4P,0,=2P 3R
7,=V3PE, SE P>0| 9er¥ F1 @
I AR F1 HWhgH
Rgpfd afdsd feid &1 s @@ go
Bosa o g, P oA, By w
TR T I B

el 300 MPa g

(a) 60 MPa
(b) 75 MPa
(© 100 MPa
(d) 120 MPa

Scientist/EEngineer ‘SC’ (Mechanical)-2023
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32.

33.

-\‘\

A machine member is subjected

0
= 0pcos(5xt). Ty,

the
350 MPa and the yield strengy ;
500 MPa. If the factor of safety useq in

the design is 3.5,

fluctuating stress,

endurance limit of materia] -,
S

then the maximum
allowable stress ¢, in MPa according tq

soderberg fatigue criteria is

@@ 10
(b) 200
© 100
d 50

A plane stress element in a structural

member under

loading has

c,=4P, 0,=2P and T, = \/§P, where
P > 0. The yield strength of the material
is 300 MPa. If the member is designed

using the maximum shear stress theory,

then the value of P at which yielding

starts is

(a) 60 MPa
(b) 75MPa
(c) 100 MPa

(d) 120 MPa
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34. dAd & HIE ded $r .
< s UEIIeA® ¥q|  34. Radius of the Mohr circle of stress
T —— F W = numerically equal to
IFIA AT gerg
(®) (@) Maximum normal stress
) I (b) Maximum shear stress
(©) i I (¢) Average normal stress
(d) 3QIE (d) Average shear stress
35. UH Gellg Sisham A, TF & I, os| 35 Ina casting process, a horizontal channel
meaa ¥ e §g T ST AT AR @ through which molten metal flows from
N . B pouring basin to reach mold cavity is
a5 TeT de § T & fav sgeh g, called
Hgolldl g
(@ TR () Runner~
(b) IR " (b) Thinner ¥
© HINER _ (¢) Corridor -
(d) =T (d) Raiser
36. 3D ifear geed & 36. 3D Printing Techniques are
(@) W(W) AT refaT (@) Selective laser sintering
) (@A) TR e @ETEm) (b)  Selective laser melting
© Sl 0 (@fee (c) Electron beam melting
(d) All the Above
(d) Iuded gel

ICRB-dwnforsr arfrean ‘wq.€l. (Fi#N-2023 21
Scientist/Engineer ‘SC’ (Mechanical)-2023
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37. w e JRETET YHer TEET &l el g

38.

ICRB-dwnfars sffaar wa. . (@ifd)-2023

<@y s T S §1 AR e @ 7
yRwaRE  FOEqe gfded ——— W
g

(2) 3B WIFH

(b) T WY

(©) 3ITIRY FT F &5

d) PR T TN FIBS &l

foaell 1 T T IR & #AgH 9
Haita forar arar &, [Sas 20° el qama
FUT BT g, S AU & SuREr woda
AMFT & ALY AEIR IR &0 gIam g1 Ao
# uita ufcEd 1 vt ————— 2

(a) Had g H FRUT AT Tfaael

b) Fhd & FRUT AT Yagd iR
R & FROT 39E9er gidaer

() del, MY ST & FRUT g
gideel 3R A F FROT Igwgor
gfdee

(@) 37T AT F FRor gEET gfaed
AR AT F FROT IgwIeT yiwe

Scientist/Engineer ‘SC’ (Mechanical)-2023
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37. A round wire helical Spring is logg

38.

the axial force. The maximum

stress in the wire cross section will b

(a)
(b)
(0

(d

\

ed by
Sh?ar
€ at

Outer fibre
Inner fibre
Center of the cross section

Both outer and inner fibres

The power is transmitted through a spur
gear with 20° pressure angle mounted at
the mid span of shaft supported on
bearings at the ends. The nature of stress
induced in the shaft is

(a)
(b)

(@)

(d)

Normal stress due to bending only.

Normal stress due to bending and

shear stress due to torsion.

Normal stress due to bending, axial
loading and shear stress due to

torsion

Normal stress due to axial loading

and shear stress due to torsion
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39. m%ﬁa’ﬁaaﬁmm%ﬁxsoowg
GeAA Al FAS SRS W 9=60° oo
FR TN ST & HR T Ior-d AC ey
F Rellst F5a Sar &1 0=30"w qedt wx
A B T W Bl §AS SRS oAy
fAuiiRa 1 (FarF S8 & ISR 3R aIfy
& ST 9@l gaRT 39 fove & usE

0T A, g =10 mlsz'ﬂ'lﬁ)-

(a) 23.98m/ls

(b) 12.1m/s
() 9.56m/s
(d 6.76m/s

ICRB-¥wmfer sifovaar o, (iH)-2023
Scientist/Engineer ‘SC’ (Mechanical)-2023
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39. As shown in the figure, the plane, having
.

a mass of 8000 kg, is hoisted back until

-

6=60"and then the pull-back cable AC is

released when the plane is at rest.

Determine the speed of the plane just

before it crashes into the ground at

6=30°. (Neglect the size of the plane and

effect of lift caused by the wings during

the motion, assume g = 10 m/s?)

(@)

(b)

(©

(d

23.98 m/s

12.1 m/s

9.56 m/s

6.76 m/s
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Y i facturer has the follow;

soae F ged H 40. A manu owing dat,
40. ws fdar & 99 US 3¢ e

—-—

regarding a product. an

m sl & Fixed cost per month = Rs. 80,000

9ty AE fAaa &g = %.80,000 Variable cost per unit = Rs. 350
Selling price per unit = Rs. 500

9fY gfe IREEH @eE = $.350 SHE L 2

- Production capacity = 1600 units per

gfa gfere faswha Fqed = ¥.500 J— S

IcUIee &THAT = 1600 Ifc 9id ATE If the production is carried out at 75% of
the rated capacity, then monthly pr Ft B

IR IAeT 75% H CF &TAAT W I : ¥ Pront is
(in Rs.)

T ST &, Y e W ¥ (@ #)

(a 1™ (a) 1 Lakh

® 1.2 & (b) 1.2 Lakhs

© 1.4 <@ (¢) 1.4 Lakhs

(d 0.8 o™ (d) 0.8 Lakhs

4l. we PERT sIfafafr & v, sqaaw o 6| 41

e, iR - 5 st 6 minutes, the most likely time is

For a PERT activity, the optimistic time is

9 minutes and pessimistic time 1is

16 minutes. The expected time of the

IOFIT THT 16 @ae ¥ ar 7Rk i

i @ay (Qhs A a1 B2 activity (in seconds) is

€ A\l -
(@) 600 @) 600 ,_,r liég x50
(b) 540 (®) 540 K

Ry
(¢ 620 (© 620 -{-&C Y = iz. X+
(d) 580 d) 580
o

ICRB-d=1fa 3rffdar ‘oww.d). (@R4Y)-2023
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42. HAIET &I A, ST5cd MEET I 3R oFarg| 42. A cantilever beam of cross section A,

pu—y

moment of inertia I and length L is having

L &1 v dieellar a7 # wrepfas 3mafed T : . - T

: natural frequencyw,. If the beam is
@ G- % 3 REE GRS &< accidentally broke»n into\twg mhla_ll_ves, the
Srdr g dr Y FRAET 9w, #fir natural frequency of the remaining

cantilever beam w, will be such that it

Thice Agfed 30 uHR gel fF g

(@) &l & (w,>ay) (a) Increases (w,>a;)
(b) "edl & (<) (b) Decreases (w,<®,)
() THA T E w,=a (¢ Remains same w,= @,
(d) T 1T 3Fws T wed Adr fFar (d Cannot be obtained from the given
data
Hehell &

43. g 3N g AT FT U F mm #H| 43. Vapor pressure_in mm of mercury of solid

and liquid ammonia 1is _given by

InP =23.1- (3749T) and InP = 19.6 «(3049/T),

arsqg gard InP = 23.1 - (3749/T) 3R

InP = 19.6 - (3049/T) &an qR A find out the triple point.

ar Ruer dige &1 gar «ene? 1'5-\-(3’1:}“\': 19:6 - 3oy
f-r
(a) 122‘ ‘ 3.'3 = ‘)«‘:Q
231 K A6 S
® 231K (®) ?; T
0 200K 3% a
© 200K © ot
@ 180K () 1804 o

ICRB-3wifas sfogar wa. . (@ifa)-2023 95

2.0
(‘ — /'1-9—6—" L0
&5
Scientist/Engineer ‘SC’ (Mechanical)-2023 °
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44, ofy S8 AT W FRG AR F QR

g&r fGar Srar g, ' sHSr  Sliaserd

(@) @l " S
(b) R I "E SO
(c) 3TS 3= uT U

(d) =I$ aRader =gt grm

5. W FoT 100 N-m & 3reer
WO T §| 36 Fo9 cole @7 e
IR €T AW FAW 100 mm 3
200 mm &1 & T I arer EeTE

a & §I? (I TR i & ary

p=1/3 AA) |
() 4kN
®) 10kN
() 25kN
(d) B50kN

ICRB-d+nfas e ‘oot (@ifyn-2023
Scientist/Engineer ‘SC’ (Mechanical)-2023
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\

44. If the load acting on the ba] bearing iq

45.

increased 2 times its life wil]

(a) Reduce by 2 times
(b) Reduce by 4 times
(©)  Reduce by 8 times

(d) Not change

An old clutch is to transmit a torque of
100 N-m. The inner and outer-rdiameterg;_
the clutch plate is 100 mm and 200 mm
respectively. The forc; required _ for

engagement is (assume p = 1/3 with

uniform wear theory)

(@) 4kN

(b) 10kN
(¢ 25kN
(d 5OKkN
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46. wegrdt I FAr qREds BT ¥ 59 ofel &

47.

100°C X ardifd fFar Ser &1 ST &
arSdIROT & I[Cd FEAT FT 2238 kl/kg &
9 7 forgm S|

(a) 22.38kd/kgK
() 2.238kJkg K
(©0 6kdkgK

(d) 100 kJ/kg K

fAefafaa suat & o w3

(@) T 3Tg Sof i Fom §

() THAA TUA G S & WY FeAT
FT -G FT §T ThH Th A
F 3G AT alT Soll & foU
HHa &

(i) UF 3YROT &7 AAOT FET 3T
ST UF Teh A Fdifeld gl 33 & A
s § FSAT & TAHRUT & 3fcldr
FIS Heg YA ool gl HLM

(@) @l U Tred &

(b) T FUT HE €

(© e (i) AR (i) T &

(d) FeT (i) 3R (i) FEE

ICRB-&mfas aiffrgar wa.aft.’ (@ifaen-2023
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46.

47.

What is the change in entropy vyhen water
is vaporized at 100°C. Latent heat of
vaporization of water may be taken as
2238 kd/kg. i

" o
v 53
(a) 22.38kJkgK
®) 2.238kJkgK
() 6kdkgK
(‘_—'
(d) 100kd/kg K

Examine the following statements:

(1) Work is high grade energy <~

(i1) It is possible for a heat engine to

¥ .
produce work in a c¢ycle by
exchanging heat with bodies at same
temperature

(iii) It is impossible to construct a device
which operating in a cycle will-
produce no other effect other than -
transfer of heat from a cooler to a
hotter body

(a) All statements are wrong

(b) All statements are correct

{c) Statements (i) and (iii) are correct

(d) Statements (ii) and (iii) are correct
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48. a’ma:@%qrmfﬁHWWMa‘

CEIEED

gm/’t‘iz:?ﬁ
WRITTEN T

i T @) & 9 & faw H'Eﬁﬁ\
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\

48. The elastic strain energy storeq i,
~1h g

rectangular cantilever beam dye to g

mwwmé’mﬁmﬁﬂ ~

yeaed Rt Fefl @

bending moment M applied at the enq i

- given by (omax is Maximum Bending

Stress, V is Volume and E is Youngs

carT geArdr Sl ¥ (Omax HTEHAH el i

afmer & Vv maa R IO ; M,

IoTE E &)

Modulus)
o o

L —>>
A
PN

Ry

(a) 02%max (V/BE)

(b) Ozmax (V/2 E)

(¢) 0Zmax (V/IGE)

(d) 0%max (V/4 E)

o el

h

ol
- Lol e N

(a) 0%max (V/BE)
(b) OZmax (V/ZE)
(C) 02max (V/6E)

(d) 0%max (V/4E)

ICRB-dwnforw afddar ‘ww.dl. (FAH)-2023 28
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49, APEIN 3@ A —— o) Ty 0T
(@) TTIAH- Tegih are
(b) EETE- A =AE
(@ gdra- adfE uiar are

50.

51.

(d) ardT aiar- veerdy 9t

ardias 9 SRR Jed dw e §
() TEF AR AR FTF g

(b) mmﬁmm%mma@
HA BT §

(c) 1T AR TIHA Sgd HH el §

d) &M@ Fga FH @A § I aH=

IO+ grar g

THh 12 mm &0F 3R 2.5 m odl Ao
T 1 B3 @ "aYURfgd ddg W @l
Srar & 3K 300 K & 400 K & T faar
S ¥l B8 W A ded #1241 g1 (T
& Qs TR & qUNH H 109 K; ¥l &
W @Eed & 200 MPa 3R ToTd
Higerd @I 210 GPa HET ST)

(a) 52.5MPa
() 0.525 MPa
() 1MPa

(d O0MPa

ICRB-4wforr arfdrden wa. . (AH)-2023
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49.

50.

Molliar diagram is also called as

(a) Temperature — entropy chart
(b) Pressure — volume chart

(c) Pressure —enthalpy chart

(d) Enthalpy - entropy chart

Real gas behavior approaches ideal gas
equation when

(a) Pressure and temperature are very
high

(b) Pressure i1s very high and
temperature is very low

(¢) Pressure and temperature are very
low

(d) Pressure is very low and

temperature is very high

A stainless steel rod of diameter 12 mm
and length 2.5 m is kept on frictionless
surface and heated from 300 K to 400 K.
What is the thermal stress on the rod?
(coefficient of linear expansion of the steel
may be taken as 10-%/K; yield strength of
steel as 200 MPa and Young’s modulus as
210 GPa)

(a) 52.5MPa
() 0.525 MPa
() 1MPa

(d 0MPa
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defae fRdar Tall (FEA) F 98 & e ardf
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WRITTEN TEST FOR RECRUITMENT TO THE POST OF E
SCIENTIST/ENGINEER ‘SC’ (MECHANICAL) - 2023

52. WX FAN Faarast F g wer $r|  52. What is the kind of deformation that

occurs in shape memory alloys?

fapfa g &2

() At confees (a) Thermo Plastic
(b) TATEEH (b) Plastic

© uHf gonfees (& Thermo Elastic
(d) g (d) None

53. &9 ATF-2F9X 9umell #T a1fg &7 gHfawer| 53. The equation of motion of a spring-mass-

damper system is given by
TR o &

X+4x+16x =12sin 5¢

X+4i+16x =12sin 5¢ What is the damping factor of the system?d

YUTTell T 3fdHc (SfF99T) TR Far 2

(@ 1 (@ 1

() 05 (b) 0.5
© 025 () 0.25
(d 0.75 (d 0.75

ICRB-&fors srfvdar a4 (Fif3dn-2023 30
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LYY
g‘ﬂ'ﬁ iSTo

°d ffe gfiar _ 2023

SET

WRITST(IJEII;I?;‘ﬁT FOR RECRUITMENT TO THE POST OF E
4 ST/ENGINEER ‘SC (MECHANICAL) — 2023
54. TH T Al &oF ¥ 4 TR Ty § - f3as1| 54. A gear train comprises of 4 spur gears —
R G,, & ISRy G, G, 3ix SR the driven geaLGl, two idlers G,, G, and
Y G, | Gy, G,, G, 3R G, 1 s the driving gear G,. The radu of Gy, (';2, (33
e and G, are r, r/2, r/3 and 2r, respectively.
T rl2, x/8 3R 2r el G, @ G, & What is the ratio of angular velocities of
SRS AT Fr IR o G, to G, and their direction of rotation?
ol 1 f&=m = gnfe
(2) 3T = 1, ol ey (a) Ratio =1, opposite direction
(b) AT = 1/6, T & feaw (b) Ratio = 1/6, same direction
(© 39T = 2, /Al R (©) Ratio =2, Opposite direction
(d) 3HqUd = 1/2, U & o (d) Ratio =1/2, same direction
55. fA=faf@a /iy & e oo IfAERT Rw| 55 The uniform link shown in the following_
F ESTHT 12 ke Bl AR 6=0" Fvir ﬁgurte htai i %f % Iig' If.thet;p rmg’li-s—
i & . un-stretched at#=0", determine the angle
el §§' el %’ Bl Hidede] & faw WT 6 for stable equilibrium. Neglect the
o faaiia +3) (Ivs OYOT T AU ARy surface friction and assume g = 10 m/s?)
IR g =10 m/s? A) - N
- = k=200 N/m
= k=200N/m "i"\:A
; =0\
s 1=06m
o E'i,,“’fxs
rﬁ‘lﬂ
(a) OD (a) Oo
© 90° () 90
@ 30° (d) 30
ICRB-danfaew rfordan ‘wa.dft’ (@ifa$n)-2023 31
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WRITTEN TEST

56. wa thg AfSET 3@ 100 mm ATH arely

AT T F T @aRed fFar S
%’Hﬁclam?ﬁ?ﬁd?ﬁ?ﬁBOOrpm gl
gfg gfa ga 12 0.125 mm g, @ mm/min
¥ ae BIs FT § ?

(a) 90 mm/min

(b) 120 mm/min
(¢) 150 mm/min
(d) 180 mm/min

57. &2 ourg & O¢ A g0 oRE ¥ @ & o
fFT ST arer #eNfeir wardar &1 T8 FA
T 87
(a) f3ferm, afAe, aifar
(b)  f3feler, afar, Qv
() R, f3fear, afeer
) T, QfFe, e

58. us 3qaye S AMifeer gfkar #, gerd &
ferea & gEg fRaraie &
FHROT Bl &2
(a) faega i far
(b) 3afAew Ques
(c) ATF 9T
(d) e 3R arediaor

ICRB-#7fas srffar ‘ow. ). (@ifyd)-2023
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56.

57.

A face milling operation is carried out
with a 100 mm diameter milling Cutter
having 4 teeth and spindle speed
300 rpm. If the feed per
0.125 mm, what is the table feeq in
mm/min?

90 mm/min

(a)
(b)
(c)
(d)

120 mm/min
150 mm/min

180 mm/min

Which i1s the correct sequence of
machining operations to be performed to
finish a through hole of large diameter?

(a) Drilling, reaming, boring
(b)

(c)

Drilling, boring, reaming
Boring, drilling, reaming

Boring, reaming, drilling

(d)

In abrasive jet machining process, the
main mechanism of material removal
takes place due to?

(a) Electrochemical action
(b) Ionic dissolution
(¢)  Mechanical impact

Melting and evaporation

(d)

tooth 14
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(a)
(b)
(©

(d)

(a)

(b)

(©

(d)

AR S T @it & % e sl

od ffRa ader - 2023 SET
WRITqIéJII;I?;IISIST FF)R‘RECRUITM ENT TO THE POST OF E
> u ST/ENGINEER SC (MECHANICAL) - 2023
59. ST % fa, fe i Tod F°AT 334 kd/kg 59. For water, the latent heat of freezing is
¥ R R I e = 334 kd/kg and the specific ‘hef}fcr_capacity
averages 4.19 kd/kgK. The quantity of
4.19 kJ/(kg K) &1 30°C
T lkg S heat to be removed from 1 kg of water at
pgell AT HT AT ey ST, arfs ag 30°C in order to turn it into ice at 0°C is:
0°C & a% 7 aRafda & e i
\Y
Hob + Y
319 kd (b) 319 kJ
483 kJ (c) 483kJ
459 kdJ (d) 459kJ
60. 91 & 3IYEYUT e YT AT ITAT ﬁg atr|  60. A point load applied at shear center of
beam induces
Fr 9T FLaT gl
T HIEIOT T (a) Zero shear force
= g (b) Zero bending
. Pure twistin
g fafedaT © B
. (d) Pure bending
QAE dehod
ICRB-4=ifors fvdar ‘wa.d). (FiFn-2023 33
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/1 rq farfla ahem — 2023 ET
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SEE® | RITTEN TEST FOR RECRUITMENT TO THE POST OF E
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61. wH ¥ 3N Ao HAR &7 fAEed
Rry 3 goffar arar ¥ oF & wrfceierar #4

?_? U
o~ "\‘
( ra ,I O
Vel _/’/ \\
/// ;/ il
A )
(@ -1
(b) O
(e 1
(d 2

62. ﬁmﬁﬁﬁ?ﬁmmwwﬁgq
ufded &1 gfa-sehy Rufa oens a8 ar
MPa # 45 B3t W AR 3R &@FHA

gfaerer &1 9R&AT & -
40 MPa
l 30 MPa
30 MPa
650 MPa 60 MPa

45¢

30 MPa |

40 MPa

30 MPa

(a) 50, 50 MPa
() 60,40 MPa
() 40,50 MPa
(d 50,30 MPa

ICRB-&nfas sffdar ‘ww. €Y. @ify$n-2023
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61.

62.

A cam and oscillating follower mechanism
is shown in the figure below. The Mobility
of the mechanis_rﬁn ig»_'

PR
( |
D Tt
g N
& () )
S A4 /
A e
(™ 1
(b) O
) 1
@ 2

A body is subjected to a bi-axial state of
stress as shown in figure below: The
magnitude of normal and shear stresses_
acting on the 45 degree plane in MPa

a0 MPa
I 30 MPa
30 MPa
bOrLe 60 MPa

45¢
30 MPa ) ,
30 MPa ]

40 MPa

(a) 50,50 MPa
(b) 60, 40 MPa
() 40, 50 MPa
(d) 50,30 MPa
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3. ERRE H ¥ W wRW um ey

yfafaficd &ar §?

Pressure 7

—

Temp.. T

Entropy. S

[

@ II
(b) Iwd III
(¢ Iwdlv
(d) 3I9dFd Tl

64.

-~

Pressure

Temp T

[

dAE HEA T @) & 9g & fre s
e ffRe wher - 2023

WRITS'.I‘(IJEII;TH'\II‘EST FOR RECRUITMENT TO THE POST OF
TIST/ENGINEER ‘SC’ (MECHANICAL) - 2023

SET
E

3

1
PYi= constant

Volume v

1

1

2

Entropy S

v

mmga:ag?rm%mﬁaﬁ?ﬁﬁ

afd R dg aRadd @t

Fed 87

(a) SFareerd
(b) oiF dg
(c) HeollAAA
(d =fRar

ICRB-dvfave srfdveien o @t (aifaen)-2023
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63.

64.

Which of the following represent sterling

cycle

-~

3

eonnstant

pvl=

Pressure [
Pressure

Volume v

1 I

Temp., T
Temp T

Fntropy, S Entropy S
111 v
(a) 1II
() TandIII
(¢ TandIV
(d) All of the above
Rapid and sharp changes in _flud

properties in a very small region of gas

flow 1s known as

(a) Cavitation
(b) Shock wave
() Sublimation
(d) Chocking
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s s T (@) ¥ 9 & e s Ry
/1 &g orf@a adrerr — 2023 SET
SRS Y RITTEN TEST FOR RECRUITMENT TO THE POST OF E
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65. wE IS TaT f QAR #@ I AR
£ @rEe 3TN ardy dredr arelr ar
Wfea we & defoa R s g
ARF WA A faR & Aers & 3meh
3R SRl W &R A A F FAA ¢
ar G &ar # arg wag F41 gen?

(@) H F TAEA
(b) T F A
(©) HA & 50%
(d) FA F 25%

66. AT U @ FEl B FAW oldls F Al arl
(a, b & ¢) Z@RT @7 # @ aiv %A A
SICHIAT T & FH F YAE I §C al &
A 2 kg, 4kg 3R 3 kg g1 3AT A A
dRl & =g FAT: 2 mm, 1.2 mm 3R
1 mm § @ drRf & 3RE gfaedi &1 Far
I FIT &7

(a a,cb
(b) b,c a
(¢ a,b,c

(d) uf FH g yided &

ICRB-d=fae 3rfdrar wa.f. (@ifydn-2023 36
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65.

66.

The wall of a chemical plant ig modifieq
with two additional layers having hajr th
thermal conductivity of origing] Waﬁ
material. The inner layer is of half the
thickness and outer layer of same
thickness as original wall. What wil] be
the heat flow across the modified wal]?

(a) Same as original
(b) Twice of original
(c) 50% of original
(d) 25% of original

Three metal balls are suspended by three

wires (a, b & c¢) of equal length arranged

in sequence as shown in figure. The

masses of the balls, starting at the top are

2 kg, 4kg and 3 kg. The wire diameters in

the same order are 2 mm, 1.2 mm & 1 mm
respectively. What is the correct order of

Increasing stresses in the wires?

(@ a,cb
() Db,c a
(c) a,b,c

(d) All are having same stress
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67.

68.

SE SNG T @it & ug & e st
o T waw - 2023

WRITéT(I}EIIEI'\II‘rIEISST FOR RECRUITMENT TO THE POST OF
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SET
E

zzﬂmﬁmmﬁwwmgl
o 1 IAFART IS W 336 kdkg For
gt & faRrse FeAreIRar 4 kakek

AT ST

@) 7.7kW

(b) 70kW
(0 12.5kW

@ 0.7kW

TdH TIX TUSE TG Wsh 9 & geTd I
o yarferg grdr & 3R aRkaer ags= 300 K
& aft ATeUH o TESH gadE 1.5 &,

TeTdr 4T 87

@@ T75%

(b) 66.67%

00 50%

d 33%

ICRB-3wifare srfodar vl (i) -2023
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68.

67. What is the power of 2 tonne refrigeration

———— .t

system? Latent heat of ice may be taken

as 336 kd/kg and specific heat capacity of

water as 4 kd/kgK.

(a) 7.7kW

®) 70kW

(c) 12.5kW

d 07kW

An air standard Otto cycle operates with a
compression ratio of 9 and the ambient
temperature is 300 K. If the adiabatic

index of the medium 1s 1.5, what is the

efficiency?
@ 75%
(b) 66.67%
(c) 50%
d 33%
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69. Determine the equation of the elastic

GQ.WWM‘}T‘FMl%WﬁHﬁ _____ n o

curve for the cantileverrbeam ofmn\

e Vel e e IS i cross section as shown in the figufe”é;:t\o“
a7 ¥ QU gegedr 96 (3eniEeeh Fd) &I the applied bending moment M, (Con;@

Fafeor freiRa FY (@9 H AN E A
Sseq el 1 A)

|

(2)
(b)
(©
(@

Young’s modulus as E and Moment of

inertia as I)

i
M,

=

/ X |« L

d

Y

le

[
y = M;x%3EI
y = M,;x%EI
y = M,;x2/2EI

y = M;x%/4EI

L

(8 y=M;x%3EI
() y=Mx¥EIL
(¢ y=Mx%2EI

(d) y=M,x%4EI

70. wREEEFE FEEAE & AT dER rer|  70. The preferred choice of the steel material

g2 [@deT FaT § ?

€Y
(b)
(©
(d)

LIE
Ieeafes
ATETHZFE
3qdad @l

for Cryogenic application is

(a) Ferrite
(b) Austenitic
(¢) Martensite

(d) All the Above

ICRB-dwfa® s#f<gar ‘ww.dl’ (@ifydn-2023 33
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Z %

WRITTEN TEST FOR

yomell & 39ART FX §T 900 kg zeeramy
& AR T F &% 7 31 =2 5w
# ARET A e R osmer ¥ s
30 mm & HA FIH arel 10 FASN g
e ¥ FaaRa B ser § oAe
AT B B O e ¥ 3o eumiaRa
W & IR qUFO F ag [EF o
Fofir g e A0 1 df 1 m/s &1 3998

ey Of@s 49 9td W & AU

sREE R @ g (Fewa)
FT 87

(a) 0.01 N/'mm

(b) 10 N/mm

() 20 N/mm

(d) 100 N/mm

ICRB-&nfors arfavgan ‘wa.dlt (FR#)-2023
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71. 100 kg FHA F UF IUTE B qegmmer| 71,

SET
E

A satellite of mass 100 kg is attached

-— — _—

centrally to the rocket stage of mass-
900 kg using a separation system. In"

space the satellite is to be separated and

ejected using 10 numbers of identical
spring thrusters having same stx;;Jl-c;e— of
30 mm. Assume spriﬁgs aré fl..l'l_ly.
transferring the energy and angular dey'
rate of the bodies" are ‘negligilt')le after
separation. What is -the stiffness. of the

spring required to get the satellite axial

relative velocity of 1 m/s.?

(a) 0.01 N/mm
(b) 10 N/mm
(c) 20 N/mm
(d 100 N/mm
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E

79. EpratEd ¥ T 74T oells g el &

(a)

(b)

()

(d)

73. farafaf@d & § Far ¥ #T dos &AA

T FeraT 87

(a)

(b)

(©

(d

X
sal gled
Flcg AT

glc X

FH FEA Hec AR e & 9fd
T

3t FEA Hee AR FHFHSH &
i TRIe YT

FH FET Hee AR Ao & i
3fF FEa Fee IR HEFDSE &

fcl et e

ICRB-dwfa® sfdgar ‘ww.dl (@if$n-2023 40
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72.

73.

Which of the following is not a casting

defect?

(a) Spatter

(b) Blow holes
gaircon

(¢)  Cold shut
/‘-

(d) Hot tear
/‘

Which of the following improve weld

ability of steel?

(a)

(b)

(©)

(d)

Low carbon content and poor affinity

to oxygen

High carbon content and poor

affinity to oxygen

Low carbon content and good

affinity to oxygen

High carbon content and good

affinity to oxygen
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THHL (I ¥ 15 F B st
A?’ & R e - 2023 SET
b WRITTEN TEST FOR R
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L= SC (MECHANICAL) - 2023
74. GIETRS q\:(ﬁ % WA AH Al ThF 9% &| 74, What is true in respect of the self locking
-~ 3 T TE Y, screw jack with square thread?
i b () The friction angle is more than the
@ = FITH helix angle of the thread.
SIET & (I) The efficiency of the screw jack
should not be more than 50%
@) T SF AT AT 50% F NOF gt
g =g
@ FHadl (@ Onlyl
(b) Faar 11 () OnlyIl
© aarl3R II () BothTandII
(d) 3"51133‘?[ 7O FE aer (d) None of the above
75. Fferr & foT A@EAET 9 I SgF  Fedd 75. The commonly used flux for brazing is:
- ™
(@) aEFg (a) Borax
(b) TR () . Bpexy
(C) NH4CI (C) NH:]Cl
t
@ Bferr i (d) Inert gas
ICRB-Awfore sifdrdan ‘ww. . (@ifdn-2023 41
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T e ¥ fv oF ?@ﬁ@-ﬁ &r 76. For a particular project, six activitieg are
B to be carried out. The precedence relatigy
S £ 3 SfaAREt @ e e 3N ‘
and duration of activities are as per the
afot Reafar@a aRol & HJER 2l following table. The minimum project
‘ completion time (in days) is
qREsET 9 B T S afay (ReAT
Activity | Immediate | Duration
#) = 57 1 predecessor (days)
fafafer | aehrer ‘{é’ﬂ?ﬁ afe A 6
(Rt #) B A &)
C A ( 8)
A 6
D B 11
B A 5 —- —
o L O
C A 8
F D,E 7
D B 11
E C 6
Bl il
F D, E 7 Pl B ¥
A
¢ ==k <
(a) 32 (a) 32 :
i S J,/
ONEY 0 21
(@ 29 (© 29
(d 30 (d 30
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77‘ ﬂd

Jiftcdt AT cefiar &, O ag o &

03'4“""1

FCRETT B T PR B 1 e O

qeal e A UEA NANMWT w7 g,

e O

(a)

(b)

(c)

(d)

78.

R - 32 3t 3pnferar ¥ ary 300 K § 270

K%Whﬁmm?,a‘raﬁﬂ

ar

(a)
(b)
(c)

(d)

wfafeufaca quire
FHOILAT DI 4TS

mﬁwﬁﬂaﬁéaﬁ

v Freife Phieet faffie ¥ftraiie CFC,

Wi Agak COP &ar &7
CIC
R - 32

ynfaar

Fafy AT COP & €

ICRBAmfors v ‘. (@iEE)-2023
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Aanfaw arfivaar tmm» (mf;rﬁ) ,‘ 1; qaa.
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78.

vt |

The of the material that

property

represents maximum  amount of strain

cnergy that it can absorb before it
fractures under load is called:

(a) Modulus of Resilience

(b) Modulus of Toughness

(¢) Modulus of Elasticity

(d) None of the above

A Carnot refrigerator works  1n

temperature range of 300 K to 270 K with
different refrigerants CFC, R — 32 and

ammonia. Which of the refrigerant give

better COP?

(a) CFC

b R-32

(¢) Ammonia

(d) All gives same cop
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79.

80.

9 T HR ¥ 2 m AW aAT L5m H T
el ATATFR i, O 3l Fedlty &
WY THE F o A Ral gl DT W TH
AT g W FER @ A §
IT TR FI Tdg & HA-G-FH 0.5 m
AT § fegdm 3R @ JawdA
e F4T &, S 9 W @ S Tl gl
(T Sief &1 fafse gecd 1.02 AT ST

IR n = 3.14)
(a) 252kg
(b) 750 kg
(c0 1202kg
(d) 275kg

IGEGICITCRIC S aIiCa i I s

() TR FHIEROT 3R gd T oE] gl
&

(i) AT FT FHEHEEAIOT W 3@E &
fore wmep grar &

(il) G TiF & FHFOT H T arar
w faar 78 far arar g

(iv) 9 dard AR FUSd el FH HAdN
Tl & AT 9 R ar Sarn
T

(a) YA (Q) IR @Gi) ToT g

(b) FUA (i) 3T @Gv) TEY &

(© FUA (i), (i) 3R (i) FEr §

(d) G FuT TEE

ICRB-dwnfas srfdrwar ‘ww.dl. (@ifydn-2023
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79. A cylindrical body of diameter 2 m anq

80.

height 1.5 m having a mass of 2 tonneg
and floats in sea water with its axig
vertical. A lighting equipment is placed
on the body such that the water leve] ig
at least 0.5 m below the top surface,
What is the maximum mass of the
electrical equipment that can be placed on
the body. (The specific gravity of sea
water may be taken as 1.02 and n = 3.14)

(a) 2b2kg

(b) 750kg

() 1202kg

d) 275kg

Examine the following statements:

(1) Euler’s equation wglic_z@e_ to

inviscid liquid

(ii) Bernoulli’s equation applicable to
steady state Tt

(1i1) Viscous forces are not considered in
Navier Stokes equation

(iv) Surface tension and compressibility
forces are considered in Navier
Stokes equation

(a) Statements (i) and (i) are not
correct

(b) Statements (iii) and (iv) are correct

(c) Statements (i), (ii) and (iii) are
correct

(d)  All the statements are correct
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N TTa/atAar wiegor
APTITUDEIABILITY TEST
gl 3T TP e, S AHAGR 9qv|81.  You are a retail clerk who typically works
fFaR § YFAR T HH T | g Monkday through Friday. You arrive at
; : ; d notice the new schedule is
FA W 9Td § R 2@y ¥ B e e £ :
> posted, and your manager has given you a
SECC] e X fear amr g 3R gy Saturday shift. It happens to be your son's
JEUF A U AR @ Rge ¥ birthday on Saturday, and you have a
party planned. What 1is the most
i dR HT IS & SeAfeT § 3k appropriate response? (1 Mark)
MY Ueh O &1 IS oo ¥ geg
3uged gfdfshar &1 2 (1 3/)
(2) I YOS F o9 L 3R Fqw () Speak with your manager and
Y offER & 3aE 2T ¥ O = explain you have a ‘birthday party
planned for your son on Saturday
SeATeA i 9l I AT COIEHE and ask if they can find someone else
AN O fF oFr 4 R 3R @ ac or if you can find someone to cover
S o your shift
e § 1 AT R R A e
Hhd §, S 3Tl fA%C A FR
Gl &
b) ua TEeEar @ TN T (b) Ask your.coworkers if they can cover
o . your shift because you have a
AR Rve & H X Hhd e, birthday party for your son planned
TR 39 3T 9¢ & fov SeAfe
ol Sl sl d )y P d lik did 1
. Y e el (c retend like you did not see the
(© & fe@rar +, St R il schedule since you always work
dar g, &gife 3g gaeam dear ¥ Monday through Friday and do not
; —_— g & 3R afeEr show up on Saturday
Y ot 3T &
: ar (d) Do not say anything to anyone, and
d frOr 9 f@ q & EILE i plan on calling in sick on Saturday
AR g &I At S
ICRB-dwforss arfordan w2l (FE)-2023 - 45
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82.

83.

T 1: AT s FEE) 991 TR &

a2 2: Feel & i Faet F 7 €

e 3: FER T T et 7 g @ £

% Tger I U axa § o Seaf@a

A F Flamm U 8t g7 g afee?

L fE gkl & SRk Fgel gar dhd
el

I gt & fhaet 7 Ferf=ar g
WA g gl

L. Fo Fgiagl fr fhael § oeg 31
ICERCAC Ry (1 37)

(aQ) ad ]

(b) Faa II

(¢) Fael III

(d) =T N FUT AT g7 FE

FU: YA H FAGH AR o@m ¢ & 88.

& oo 9% =5 o sead o
IAWSET X gr el qar A
Hegad dee-Riosie =i sor
Oifed T & v sRadw Ry
d% & fAder &1 Ieome a3 w

FRaATS T gfFaT -

I  aifufegs d9f & gefg 3Rt
FI Aefaad forar s &

I 3IREEME & aOfsas S5 ar oy
AT &7 & A+ F AT Fwr =
IRy (1 37)

(2) Fad I 8 3[aRor Fear §

(b)  &adl II 3TE0T T ¥

() AT & I AT II T80T &R &

(@) &AL 3R A1 I 3TEOT e §

ICRB-#&=fa% sf<ar ‘vo.dl’ (@ifydn)-2023 46
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82.

Fact 1: Pictures can tell a story.

Fact 2: All storybooks have pictures.

Fact 3: Some storybooks have words.

If the first three statements are facts,

which of the following statements must

also be a fact?

I:  Pictures can tell a story better than
words cany

II: The stories in storybooks are very
simple. «

III: Some storybooks have both words
and pictures. (1 Mark)

(a) Ionly

(b) IIonly

(0 IIlonly

(d) None of the statements is a known
fact

Statement : Exporters in the capital are
alleging  that commercial.
banks are violating a Reserve
Bank of India directive To
operate  a  post-shipment -
export credit denominated in
foreign currency at
international  rates from
January this year.

Courses of Action:

The officers concerned in the
commercial banks are to be
suspended.

II.  The RBI should be asked to stop
giving such directives to commercial

banks. (1 Mark)

(a) OnlyI follow

(b)  Only II follows

()  Either I or II follows
(d)  Neither I nor II follows


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

/ dwaw afgar
4 T (it
) oy )& 9 & AT el
<[ 57 T f@e wler - 2023 SE
WRITTE B
RN DEORUTTM .
o1, @ AL, QR ST VWit y ICAL) - 2023
eIk ﬁGT.é—T IRT 3R A F T | 84.  Eight friends f{ Q RSt v
1. 3o ?f{ -\qx BIES Em sitting around a IR ’W and Y(are
‘ AT F Tt 1. ) L a square table.
EL) ?'- T 3T RR ut of eight, four pers el
: IR A & JAh at the co persons are sItiing
SESab LR I T
. . e sitting at th 3
9. @l R 45 giFd &g fr #R 2 points of each side of the tab1: .ml’q )
® & Sdae R g . Persons at the corners ar e
F TEY ﬁ_%. centre while the e facing the
§& afad e 1 3R @ @ w points of sid persons at the mid -
. dY TUE W O§ th : of P. P is facin
T AT | P ?Centre. = g
1 v P :’—;Eﬁ 3R .%l g }P[}S not sitting beside P or S
. % e 3 aAE dor B o I o thof oo ofR.
5. T,R & ad & e gl . Ris not sitting at the mid - poi
6. R TS F N 7 any side of the table. - point of
e ot o7 &1 [Cricgcy H‘E?J-ﬁ'g 8. IT%}izrals-o not beside Y.
. e
;. RAY F @ ot and V. is only one person between P
el gl 9.  Q is not sitting besi
8. p 3RV & & 2 o : g beside V.
] ‘ c&i?a | How ma
;)1. ﬁTQ(,QV$3?£Tﬂ I 8T dor Bl T and Q7 ny people are there (zbﬁwien
et T €7 - by, oy
() 1 AN
() 2
© 3 o 2
@ w7 Q 3
85. aldr
e y2eT RIEe T T ol g7 | 8 Which " b
i option replaces the question mar ?
(13%) Kk’
o . s . 3U T r“w = (1 Mark)
SILA | S ? bt R B L A B e % i
o = 0 o B i
) s * 2 —— - ' L - 2. -
3- ': Y] 4 V:':A *:: 3 *: ". . 4 .8 .
(@ 1
(b) 2 %) é
8 N O S
' Vs ep PT 0 S \
ICRRB- : Y
S sfordar o (@if)-2023 47
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86. fosATaf@g difale & £9=9das 3egdr | 86. Study the following table carefully ang
' . answer the questions given below it:
FY 3R 38F A fGr 717 9ot & IR &

Toys
Toys Years

Years
A B C D E A B . 2 B

00 | 150 =
1982 |200|150|78 |90 |65 1982 | 2 78 190 |65

1983 | 150 | 180 | 100 | 105 | 70 1983, | 150 1180 | 100 | 105 | 70

1984 | 180|175 |92 | 11085 S 0| Y| %2 1085

1985 | 195|160 | 120 | 125 | 75 1988 | 1957160 | 120 125 | 75

1986 | 220 | 185 | 130 | 135 | 80 7986 20185130185 | 80

1983 ¥ 1985 d&% D Y&R ¥ it & What was the percentage (approximate)

increase in production of D type of toys

S & sfRE R g from 1983 to 19857 (1 Mark)
FaT 2 (1 37F) 20 *HOTT
oS
2
(a) 10 (a) 10
v ) oo |
b 20 ) 20 )l‘fﬁ
(e 19 © 19 Q \x9, ' o
el '/__—‘i—
(d) 76 d 76 Yy

87. 620 fAAT 9RFr ar AT &1 J&Fas|87. What is the maximum area of -the

ST T (2 3F) rectangle with perimeter 620 mm?
(2 Marks)
(a) 24,025 mm? (a) 24,025 mm?
(b) 22,725 mm? (b) 22,725 mm? 2 A4 h= 320
(© 24,000 mmn? © 24,000 mm? Lh=1
(d) 24,075 mm? (d) 24,075 mm? Rl -k -0
ICRB-&=afars ifdrfar ww.dl (@ifyd)-2023 45 \boploel 92p=24
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7, 8, 18, 57, 228, 1165, 6996

()
(b)
(©
(d)

7

8
6996
228

(2 31F)

AT T oy @A) & g F e st
o T e _ 2093
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89.

fem-fader -

88.

A I A FAE H ded @ g §
IE HIAIAETTA FY 3’ AT BU 90 ot
F 3 ¢ (1 37)

Earnings per day

_ ===Earnings perday

foper AT & 9T FATS @1 AR T3 AT?

(a) VAR — HHAIR
(b) HIEER — JUAR
(c) FEIgfdar — Ashall

<

(@) T FE T

ICRB- 4wy arfraiar ‘wa. &l (FiF)-2023 49
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AT @@ 7131 I v e | 89.

Find out the wrong number in the series.

7,8, 18, 57, 228, 1165, 6996_ (2 Marks)
() 7

(b) 8

(c) 6996

(d) 228

Directions The graph given below

represents the variations in earnings in
rupees over a week. Study the graph and
answer questions given below (1 Mark)

Earnings per day
760 - — 4
\0
N DN, | - = | A
620 ‘)\i‘& y; 1‘\
B A B O
fm [f? N\ // |\ = 3
% 500 | f Vgt
4 260 - f ] ‘Zt! ' {2 \ e EaTINGS PET oy
o 1A I
108 Ve { - f i N |
| L d 2 A A
L O O AN P \b"
ule k°° Q“l & _\\\“’ & &
? AN « _\ah I\ o

The difference in earnings was large
between

(a) Sunday-Monday tuw)
() Tuesday-Wednesday (3w
(¢) Thursday-Friday (%

(d) None of these
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90 ST § O sl=ar A9 e 9w 90. Which of the following best completes th,

passage below?

mf. F ogEy =S T FRUBCEL In a survey of job applicants, two-fifths
&2 Fed des F ouw Fdaor A, admitted to being at least a_ ]it&e
& e G SEi T & AT dishonest.” However, the _survey may
' underestimate t_he _ £1'oportiom,ofngj
FEAT BT H G FER A applicants who are dishonest, because
fror, wderor F dSHE Al : (1 Mark)
2 e
MAGHT & AT & FH Hlh Tl "
ST gehdl &, Fdifeh ?  (137%)
(2) TFeTOT H HET AN Ay To AEATT (a) some dishonest people taking the
) , survey might have claimed on the
ISICil é?ﬂl?ial! I
A w7 GG survey to be honest
grar f&ar grem
(b) TITUT F HET oRT AT FS IMHIR (b) some generally honest people taking

the survey might have claimed on

W EAFGR el & gar far gem
deqor W 9SAET #Xa ¥ FT grar

the survey to be dishonest

fohar gr
(@ T e, Segls gdaor F 7 O (0 some people who claimed on thg
S T R @ arar e ar } 51-1rvey to be at least a little
dishonest may be very dishonest
TG SSAT g1 T §
(d) & Thar & 5 adetor & A= @ (d) some people who claimed on the
I aE O FE S s : survey to be dishonest may have
=] .
been answering honestly
aa ¢ d

ICRB-dfas afirdar ‘va.dfl’ (@ifdd)-2023 5
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91.

L=

S Faed IR AT T T oar §2 |91, Which option replaces the question mark?

danfars AT ‘Tad @) ¥ v ¥ v adf
e fofaa ofer — 2023 SET

WRITTEN TEST FOR RECRUITMENT TO THE POST OF
SCIENTIST/ENGINEER ‘SC’ (MECHANICAL) — 2023

i (1 Mark)

(a)
(b)
(c)
(d)

2
3
4

(d)

ICRB-&anforsr rfverar ‘war.afl, (@E#N-2023 51
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92.  yo e & TUT 9T FIT WY
(1 37h)
\ N2 (N
) \ \ /\ /
/ \ / \
G, J (o2
(@ 45
b)) 8
(¢ 38
(d) 48
93.  Hiaar ReT weT Rt & T ol 22
(2 31h)
|
N--x-2 BN
A B C I
(& A
() B
o C
(d D
ICRB-&wfa® sffaar ‘vt @ifddn-2023 59
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92.

93.

Which one will replace the question mark?
(1 Mark)
\
(:6\\/ 6) (6 \ 2) ( % /1
//* 7 X / /
G0X 24 i
\,/ % >/ i / N\, / \\
AV B lib 10./\ 12,
(a) 45
(b) 8
() 38
(d) 48
Which option replaces the question mark?
(2 Marks)
- 1 _ 1 ! a
- BINNY
' A B . s D
(a) A
() B
¢ C
d D
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94.

95.

ICRB-Awfys srfiraar ‘wa. gl (Fifye)-2023

Bl aheT vt RiesT &1 €= oar &2
(1 37)

FA N <
as

O

I
|

|

A B C D
a) A
b)) B
c C
(d D
HIaAr [Aded wed REd &1 T ofdr g2
(2 31h)
B/C s/ D/ G./“ %

Makes 1s! tern Haif sze Shades 1st tem

c(a CwE BiC

Rotales 2na dem 90 antcioCkwise

o pep T
SR

Shiks ail qems ane pesihion nght

7~ 7T
(o) ?
\.‘// \_7_/
A B C D
a0 «Oc o ~OC
@ A
® B
© C
d D

94.

95.

Which option replaces the question mark?

(1 Mark)
A <
~.
“ | is to [l
as
0
is to 2
F 1° [ o il m
I
A B C 'D__
a A
(b) B
 C
(d D
Which option replaces the question mark?
(2 Marks)
i m/C £ «/0 Or/em 31 0/e
| Makes 13&41'.-::111 Hall sze Shade‘s‘ st iem
z ——
I o(E OwH B(O ¢ CR{

| Rotates 2nd tem 90" antclockuse Shiks alt tems one positon nght

i } ( ?

|

o >
O O (
(@ A

® B

) C

@) D

R
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